Lo10wm
eeeeeeeeeeeeeeeeeeeeee
aaaaaaaaaaaaaaaaaaa
5 Tpotyap npoexT. Tpotyap cyuu.
705-780 L=75m™ 780-925L=145m
pil paxaeH
eBa
OT OCi
oooooooooooooooooo
yKJI0
000 yn. Okta6p

v L
it
///////////////////

. T == o
@8%%ﬁ%%%%%%%%

//////

a OOO‘ //{// iy b
> o // ////. 1)

TR

4%?/%%7%%/%%%%%%
%Wéa-%f%%%%%%%%

%//?%%%x%%%%%%%%

iz | /// /// 00 // 7 ///////// ’j/)/////ki////// s

[MpoekT opraHnsaunm 4OPOXHOro ABUXKXEHNA
9. yn. Pabouas

O
\
N
N
N
N
N
\
\

yA. Okt 6P yn. WkonbHas
c. BaTprHo KM 0+670 KM 1+000
. T 16 15 % 11 11

5 & | Ocesas wHus 670-685 710-730 730-780 780-850 850-900 900-920 940-960 16
=

u o

[e]

2

)
Jop
yetp

TpoTyap cyLu. TpoTyap nNpoexT.

Tpe 300-360 L=60 m 005-1285 L=1280 M

eeeeeeeeeeeeeeeeeeeeee

nnnnnnnnnnnnnnnnn

[Jo 1,0
HHHHHHHHH A/6




